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2s 22248 RNE=s 2,000,000 = 24 4,000
Hagd)| 2sH, QLWH ¥ o/, e 2+ 1,000,000 = 24 2,000
s ZH) |RX22/ 2,000,000 * 24| 4,000
S X301 =Xl2eld| 1,000,000& = 5CH 5,000
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5,000& = 700HP
1,500,000& = 32l

4,000,000& * 14
4,000,000& * 12
2,500,000 * 13
1,500,000& =+ 12l
8,000,000 = 2CH

30,000& * 122
4,000,000& * 1CH
10,000,000& * 14
3,000,000 * 14!

300,000& = 1094
200,000& * 14 = 10&4
150,000& = 4004
3,000,000& * 12
2,000,000& * 12l
2,000,000& * 13l
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5,000
5,000
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1,000
3,500
4,500
4,000
4,000
2,500
1,500

16,000

360
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SN ATXAYD
MM ARXAS e
el AZIAE RIA2L (el &
A B S(E) - NRAY - BES 0f & o e HIDZ2
BlLIAE JI2S AJI£H |2l 1,000,000& = 22| 2,000
eleteld Jtzs MIIEHl = A2l 1,000,000& = 22 2,000
HILIA - Qletold A =40[, ZXJ] =2l 1,000,000 = 2942 2,000
O AZ=EZUH AFES FA 2] 500& = 38,330m 19,165
O Xrgk - Aoyl 5,000
O 428 NE(sEXMN &¢) 5,000,000& = 1CH 5,000
202 OdH 21,960 24,400 A2,440
01 SLHAOH 21,960 24,400 A2,440
O AZAIZ22YR =0 20,000& » 11& = 78 17,160
O o= MsSAZge =4 20,000& » 3H * 40 2,400
O AUHUAE A8 2 IIE MSAe=28 A9 80,000& = 58 » 3& * 23] 2,400
206 M= Hl 110,180 110, 180 0
01 M=4l 110,180 110, 180 0
0 o=l 54,570
O =& 45 L=Zgd 2 15,0008 * 42JH2 * 32/ 1,890
O ot LIEEL 53 2,000,000& = 123 24,000
O F2H 100,000& * 20 * 128 24,000
(ORF SRR 13,0008 * 30%E * 12 4,680
O &8J1&4H SN2 T 2 12,500
O XD 50,0008 » 65 = 5 1,500
O #Zot™| 50,000& = 105 = 504 2,500
O z=&J1+ 100,000 = 5& * 44 2,000
O &I &8I XM 50,000& * 105 = 53 2,500
O e Jt2s MM 2 4,000
etE DI 300,000& = 534 1,500
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SAM: ATEAA D
HE: ATZIAlL 2t
©e AZXAIY RX2e (ctel
A B S(E) - NRAY - BES 0f & o e HIDZ2
oI H 200,000& * 504 1,000
AHEE 300,000& * 5JH 1,500
O &Jjerdze] #Hl 2 900
Z2HME £EDI 500,000& * 1JH 500
O OXE <3A0Iet 400,000% * 14 400
O =dF MES 72l 835 7 41,210
O JIHEH 28 7Y 1,000,000& * 13/ 1,000
O Xl & Ws a2 70,000& * 61 * 32| 1,260
O SHol agdEsE 2 50,000& * 61 * 33| 900
O &d2® AFHE #HItE 10,000& * 504 50
O HRULUE P (s 250,000 = 109K 2,500
O AOPEBFSZE UV Lamp W AIHI 350,000& * 60set 21,000
O Super Carbon Filter 4,000,000& = 3CH 12,000
O H=Xel Filter 1,000,000& * 12/ 1,000
O Oxygen Cenerator 1 AlH| 1,500,000& * 13 1,500
O EE28d RX2+ XM 1,000,000 * 14! 1,000
401 Al&HIZL= Y] 3,054,944 978,270 2,076,674
01 Al&HI 3,003,000 960,000 2,043,000
O A& HI 3,003,000
O SE2sd 4 EXFINE &C2e 30,000,000& = 14 30,000
O AXZXER2UH AIEE ¥ ZE== FA2d 30,000,000& * 14 30,000
O AU LAE HE 2,823,000,000& = 14 2,823,000
O dEZ HOIESE HE AAEHER 30,000,000 = 14l 30,000
O ZE2sd s4ZJIE ANE B2 40,000,000 = 14] 40,000
O AU#+=g9& ColgdAlE =1 &X 50,000
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SH: ATEAAT
A ALIAIA 22|
Sl AZEAIE X2 el
- o AT ~
= MG (SAH) - MRPAY - HES &l Ol AF ot =
Amg 20,000,008 * 2% 40,000
5M CHOI 10,000,000% * 14} 10,000
02 22yl 41,781 2,600 29,181
O AUEILAT 28 2,823,000,0008 * 1.48/100 41,781
03 Al& SOt 0,163 5,670 4,493
O AUELAZ A8 2,823,000,0002 * 0.36/100 10,163
405 X+t S| 50,000 26,000 24,000
01 RHUSEFHS 50,000 26,000 24,000
0 AUEILAE 50,000,0008 * 14! 50,000
HHSHAY (ALZARAD) 421,000 388,640 32,360
o= 2| 23,938 25,138 A1,200
B (AT A 23,938 25,138 A1,200
201 Ygreg| 23,938 25,138 A1,200
01 AtR2elt] 23,938 25,138 A1,200
0 Lursgy| 23,938
O AREE 3¢ 20,0008 * 155 1,200
O 2z 23 o 20,0002 * 20% 800
O I 11,110
= A 400,0002 * 1CH 1,200
= AP 500,0002 * 1CH 1,000
T 2lE 300,0002 * 1CH 900
ZE 250,0008 * 4% * 104 6,000
ZE 300,0002 * 204 1,800
A9 70,0008 * 1CH 210




SA: AEZAYD
Y HY2IGH(AEZ =G
& J123 4l &R
SN - HE - SI(E) - NRAY - BAS & oy e =2
O SAZX 2L 20,000 * 30box * 63l 3,600
O g Zel Mg 2 50,000& * 5& * 43| 1,000
O &2 & WX #= 12,000& = 128 * 128 1,728
O AR4 HIE 2L 50,000& * 158 = 63l 4,500
397,062 363,502 33,560
Ul (AZ=AFH D} 397,062 363,502 33,560
jelal=] 391,662 358,102 33,560
2 122,149 130, 199 A 8,050
O =224 122,149
O Azte 224 7,800 * 24F  40AI2t » 123 89,856
O 524 61,5108 » 15%  35¢ 32,293
PIHAAZZRE = 269,513 227,903 41,610
O RIAHAAZZ2NHE S 241,211
O gAY 2 H2UA B 45,742
== 40,000& » 2H = 256 20,480
a0z 20,480,000 = 4/12 6,827
FE=E 40,0003 » 29 * 52 4,160
S22 58,5003 » 2% » 51 5,967
A2t 225 7,320 * 2 * 40AI2t « 128 7,028
HAX =G 40,000& = 2H = 16 1,280
O AU=+=g% 2g22X E+ 24,194
Z2as 40,000% » 19H = 253 10,120
o0 10,120,000& * 1%  4/12 3,374
T4 40,0003 » 1€ » 52 2,080
e 60,000& * 19 * 59¢ 3,540
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A AEAE Y

I HYS2HHH(AEZAHDL)

chel: ol 2oy ool el

M- BE - SI(EH) - HRAY - 0f &t e 52
Al2t g 7,500% *« 18 » 40A12F = 128 3,600
PN 40,0008 » 18 » 162 640
HalSAE S48l 7,000& ~ 10& » 128 ~ 1¥ 840
O 2s& ¥ HUXE 47,115
lzs 40,0003 » 2F = 2562 20,480
a0i= 20,480,000& * 4/12 6,827
=222 52,5003 » 22 = 60 6,300
Fe=d 40,0008 » 2& » 52 4,160
ANz2te2e g 6,570% * 28 » 40AI2+ » 123 6,308
Ax =g 40,0008 » 2% » 17 1,360
HalsSAL S48l 7,0008 = 102 = 128 » 2¥ 1,680
O QetEddIIE 22A B 21,943

2= 40,000& » 1&H » 2564 10,240
0= 10,240,000& = 4/12 3,414
sL2RE 52,5008 = 18 = 30 1,575
FRETd 40,0003 = 1 » 52 2,080
ANzte|2fRg 6,570 * 18 = 40AI12+ » 12& 3,154
At 40,0003 » 1% = 16 640
L2l SAH =4d] 7,0008 * 102 = 128 » 1Y 840
BAEXER Alg2e 22X 24023 HI) 83,152
== 35,000& » 43 » 256 35,840
0= 35,840,000& * 4/12 11,947
=222 52,5008 » 4% = 63 13,230
Fed 35,0008 4% = 52 7,280
ANzte2e g 6,5703 * 48 » 40A12+ » 12 12,615
HAxt==d& 35,000& » 4% » 16 2,240
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